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Comprehension:

The following table shows the percentage distribution of emplovees working in six different
departments of a company, namely. IT, Accounts, HR, Marketing, Production, and Sales in a
given year. Number of employees working in Marketing department is 560. Based on the
data in the table. answer the questions that follow:

Department-wise details of Employees in a company.
Department | Percentage Distribution of Employees
IT 8%
Accounts 18%
HR 12%
Marketing 14%
Production 32%
Sales 16%

SubQuestion No : 1

Q1 If the number of employees in IT and marketing department increases by 60% and 20%.

respectively in the next year, then what will be the ratio of number of employees in IT and
Marketing departments in the next year?
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Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 3767496652
Option 1 ID : 37674925913
Option 2 ID : 37674925914
Option 3 1D : 37674925915
Option 4 ID : 37674925916

Status : Answered

Chosen Option : 4
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Comprehension:

The following table shows the percentage distribution of emplovees working in six different
departments of a company, namely. IT, Accounts, HR, Marketing, Production, and Sales in a
given year. Number of employees working in Marketing department is 560. Based on the
data in the table. answer the questions that follow:

Department-wise details of Employees in a company.
Department | Percentage Distribution of Employees
IT 8%
Accounts 18%
HR 12%
Marketing 14%
Production 32%
Sales 16%

SubQuestion No : 2

Q.2 If the ratio of the number of male and female employees in Accounts department is 5 : 4 and

60% of the employees in HR department are females, then what is the total number of male
employees in Accounts and HR departments together?

1.592
2.594
3. 596

4. 598

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 3767496653
Option 11D : 37674925917
Option 2 ID : 37674925918
Option 31D : 37674925919
Option 4 ID : 37674925920

Status : Answered

Chosen Option : 1
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Comprehension:

The following table shows the percentage distribution of emplovees working in six different
departments of a company, namely. IT, Accounts, HR, Marketing, Production, and Sales in a
given year. Number of employees working in Marketing department is 560. Based on the
data in the table. answer the questions that follow:

Department-wise details of Employees in a company.
Department | Percentage Distribution of Employees
IT 8%
Accounts 18%
HR 12%
Marketing 14%
Production 32%
Sales 16%

SubQuestion No : 3
Q3 If the number of employees in Sales department increases by 25% in the next year, then what
will be the number of employees in that department in the next year?

1. 700
2. 800
3. 900

4.920

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 3767496651
Option 1 ID : 37674925909
Option 2 ID : 37674925910
Option 3 1D : 37674925911
Option 4 ID : 37674925912

Status : Answered

Chosen Option : 1
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Comprehension:

The following table shows the percentage distribution of emplovees working in six different
departments of a company, namely. IT, Accounts, HR, Marketing, Production, and Sales in a
given year. Number of employees working in Marketing department is 560. Based on the
data in the table. answer the questions that follow:

Department-wise details of Employees in a company.
Department | Percentage Distribution of Employees
IT 8%
Accounts 18%
HR 12%
Marketing 14%
Production 32%
Sales 16%

SubQuestion No : 4

Q.4 The number of employees in HR department is % less than the number of employees

in Production department.

1. 645
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4.62.5
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 3767496649
Option 1 ID : 37674925901
Option 2 ID : 37674925902
Option 3 ID : 37674925903
Option 4 ID : 37674925904

Status : Answered

Chosen Option : 4
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Comprehension:

The following table shows the percentage distribution of emplovees working in six different
departments of a company, namely. IT, Accounts, HR, Marketing, Production, and Sales in a
given year. Number of employees working in Marketing department is 560. Based on the
data in the table. answer the questions that follow:

Department-wise details of Employees in a company.
Department | Percentage Distribution of Employees
IT 8%
Accounts 18%
HR 12%
Marketing 14%
Production 32%
Sales 16%

SubQuestion No : 5
Q.5 What is the average of the total number of employees in Accounts, HR, marketing, and
Production departments together?

1. 760
2.780
3. 800

4. 820

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 3767496650
Option 11D : 37674925905
Option 2 ID : 37674925906
Option 3 ID : 37674925907
Option 4 ID : 37674925908

Status : Answered

Chosen Option : 1
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What is the full form of the acronym CBFC?

1. Central Board of Film Censors
2. Central Bureau of Film Certification
3. Central Bureau of Film Censors

4. Central Board of Film Certification

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496664
Option 1 ID : 37674925961
Option 2 ID : 37674925962
Option 3 ID : 37674925963
Option 4 ID : 37674925964
Status : Answered
Chosen Option : 4
Q7 A man can do a work in 10 days. The man along with a boy can do the same work in 8 days.
What is the ratio of efficiencies of work of the man and the boy?
1.2:1
2341
3. 4:1
4. 521
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496670
Option 11D : 37674925985
Option 2 ID : 37674925986
Option 3 ID : 37674925987
Option 4 ID : 37674925988
Status : Answered
Chosen Option : 3
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Q.8

Options 1. 1
2.2
3.3
4.4

Which ethical principles need to be followed in a research project dealing with human
beings?

A, All participants must give their informed consent
B. All participants should have adequate information on the experiment in which they are

participants

C. Rough treatment of participants is sometimes justifiable
D. Some unwilling participants may be included

Choose the correct answer from the options given below:

1. Aand D only
2. Aand B only

3.B.C and D only

4. Band C only

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID
Status :

Chosen Option :

Question Type :
: 3767496661

: 37674925949
: 37674925950
: 37674925951
: 37674925952

MCQ

Answered
2
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Match the LIST-T with LIST-IT

LIST-I (Schemes) LIST-II (Objectives)
n Malviya Mission - Scholarship for north-
‘| Scheme " | east students
B. | Vidyanjali o To gag‘ner international
experience
c laiax L Relmfedml classes and
training
, | Professional
D.|Ishan Uday V. development of teachers

Options 1. 1
2.2
3.3
4.4

1. A-I, B-II, C-1II, D-IV
2. A-IL, B-I1. C-1V, D-III
3. A-IIL. B-IV, C-1. D-II

4. A-IV, B-III, C-II. D-I

Choose the correct answer from the options given below:

Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
3767496693
37674926077
37674926078
37674926079
37674926080
Answered

4
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Q.10
What can be correctly inferred from the Mood OAO in d figure.
A. Middle term is distributed in the Major premise
B. Commits illicit Minor fallacy
C. Middle term appears as predicate in Minor Premise
D. Middle term is distributed in the Minor premise
E. The predicate of the conclusion is distributed
Choose the correct answer from the options given below:
1. B and C only
2. A and D only
3.B and D only
4. A, C and E only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496678
Option 11D : 37674926017
Option 2 ID : 37674926018
Option 31D : 37674926019
Option 4 ID : 37674926020
Status : Answered
Chosen Option: 3
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Q.11 : : : ] :
Which of the following goals is not a Millennium Development goal?
1. Eradicate extreme Poverty and Hunger
2. Reduce child Mortality
3. Climate Action
4. Ensure Environment Sustainability
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496684
Option 1 ID : 37674926041
Option 2 ID : 37674926042
Option 31D : 37674926043
Option 4 ID : 37674926044
Status : Answered
Chosen Option: 3
Q.12 : S > s G
Which among the following is not a property of chi - square distribution ?
L. For large degrees of freedom chi - square distribution approaches normal distribution
2. Chi - square is a test statistic
3. Three times the number of degree of freedom is equal to variance
4. Two times the number of degrees of freedom is equal to the variance.
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496659
Option 1 ID : 37674925941
Option 2 ID : 37674925942
Option 3 ID : 37674925943
Option 4 ID : 37674925944
Status : Answered
Chosen Option : 4
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.13 ; 1 TN~
Q Which of the following would apply to Quantitative research methodology ?

A. Rationalism
B. Emphasis on description of variables
C. Empiricism
D. Explores experiences, meanings, perceptions and feelings
E. Structural rigid methodology
Choose the correct answer from the options given below:

1. A. B and D only
2. B, C and E only
3. Aand E only

4. B, C and D only

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496660
Option 11D : 37674925945
Option 2 ID : 37674925946
Option 3 ID : 37674925947
Option 4 ID : 37674925948
Status : Answered
Chosen Option : 2
Q.14 In a certain coding scheme. *AC’ is coded as 8 and "PQ’ as 33. What is the code of "XZ’?
1. 100
2..51
37
4. 87
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496671
Option 11D : 37674925989
Option 2 ID : 37674925990
Option 3 ID : 37674925991
Option 4 ID : 37674925992
Status : Answered
Chosen Option : 1
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Q.15

Options 1. 1
2.2
3.3
4.4

A. A- horizon
B. B- horizon
C. C- horizon
D. O-horizon
E. R-horizon

1A BDEC
2.B. A0 D. B
3. DA B C.E

4.C,B,AE.D

Arrange the principle soil profiles from top to Bottom.

Choose the correct answer from the options given below:

Question Type :
: 3767496686

: 37674926049
: 37674926050
Option 31D :

Question ID
Option 1 ID
Option 2 ID

Option 4 ID
Status

: 37674926052
: Answered
Chosen Option :

McQ

37674926051

1
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Q.16 In order to construct a good definition by genus and difference what must be avoided ?

A. It should state the conventional intension of the term being defined

B. It must state the essential attributes of the term being defined

C. The definiendum itself must appear in the definiens

D. The definiens must denote more things than are denoted by the definiendum
E. A definition should not be negative when it can be affirmative

Choose the correct answer from the options given below:

1. B and C only
2. A.DandE only
3.Cand D only

4. B.D and E only

Options 1. 1
2.2
3.3
4.4

Question Type :

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 4 ID
Status :
Chosen Option :

McQ
3767496676
37674926009
37674926010
37674926011

137674926012

Answered
2
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Q.17 : ,
Arrange the following steps for the Inference - method of learning :
A. Conclusion
B. Reason
C. Proposition
D. Example
E. Application
Choose the correct answer from the options given below:
1. E-D-B-C-A
2. C-B-D-E-A
3. B-C-D-E-A
4. E-C-D-B-A
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status
Chosen Option :

: Answered

McQ
3767496656
37674925929
37674925930
37674925931
37674925932

3
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Q.18
Which of the following are known carcinogens?
A Nickel(N1)
B. Cadmium (Cd)
C. Benzene (CgHg)
D. Ozone (O3)
Choose the correct answer from the options given below:
1. A, B and D only
2. A, Cand D only
3. B, C and D only
4. A, B and C only
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status
Chosen Option :

: Answered

McQ
3767496687
37674926053
37674926054
37674926055
37674926056

4
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The full form of WWW is.

1. World White Web
2. World Wide Web
3. Worst Wide Web

4. Worst White Web

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496679
Option 1 ID : 37674926021
Option 2 ID : 37674926022
Option 31D : 37674926023
Option 4 ID : 37674926024
Status : Answered
Chosen Option : 2
Q'20 ] ] - "
Find the next term in the following letter series.
BFD. ELG, HRI. ?
1. KUM
2. JXM
3. KTM
4. KXM
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496669
Option 11D : 37674925981
Option 2 ID : 37674925982
Option 3 1D : 37674925983
Option 4 ID : 37674925984
Status : Answered
Chosen Option : 4
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Q.21

Match the LIST-T with LIST-IT

LIST-I (Author) LIST-II (Books)
. Theories of Media,

o e o Theories of Society
The culture Industry:

B.|Manuel Castells II. [ Enlightenment as Mass
Deception

c Adorno. T and 1 Public opinion does not

"|Horkheimer "| Exist
D.|Bennett. T IV.| The Internet galaxy

Choose the correct answer from the options given below:

Options 1. 1

2.2
3.3
4.4

1. A-III. B-IV, C-II, D-I

2. A-IV, B-1II, C-II, D-I

3. A-IIL. B-IV, C-1. D-II

4. A-IIL, B-1I, C-IV, D-I

Question Type

Option 4 ID

Chosen Option

: MCQ
Question ID :
Option 11D :
Option2 1D :
Option 31D :
: 37674925980
Status :
13

3767496668

37674925977
37674925978
37674925979

Answered
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Q.22 ) :
Arrange the steps of Data processing cycle in correct sequence:
A. Input
B. Output
C. Processing
D. Storage
Choose the correct answer from the options given below:
1.D.A,C,B
2.A.C.D.B
3.480.B,C.D
4.B,A.C.D
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496681
Option 11D : 37674926029
Option 2 ID : 37674926030
Option 3 ID : 37674926031
Option 4 ID : 37674926032
Status : Answered
Chosen Option : 1
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Q.23

Options 1. 1
2.2
3.3
4.4

1. Robert Flaser

2. B. F. Skinner

3. Israel Scheftler

4, Ned A Flanders

The Ten Category System that attempts to measure all the verbal interactions in the
classroom was developed by

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

McQ
3767496655
37674925925
37674925926
37674925927
37674925928
Answered

3
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Q.24

Arrange chronologically as hierarchy of needs.

A. Self Actualization

B. Self Esteem needs

C. Physiological needs
D. Social needs

E. Safety-security needs

Choose the correct answer from the options given below:

Options 1. 1

2.2
3.3
4.4

1. C.E DB A
2.8 D ABC
3:E;B.C.D.A

4.C,A,B,D,E

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
3767496691
37674926069
37674926070
37674926071
37674926072
Answered

3
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Q.25 Pick the correct statements.
A. UGC regulations for plagiarism allow ten percent of similarity index
B. The emphasis on mother tongue as medium of instructions was first suggested by NEP
2020
C. Operation Blackboard was recommended by RTE 2009
D. NEP 2020 suggests 5+3+3+4 education system instead of 10+2+3.
Choose the correct answer from the options given below:
1. B and Conly
2. Aand D only
3. A.Band C only
4. B, C and D only
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

McQ
3767496692
37674926073
37674926074
37674926075
37674926076
Answered

4



https://applink.adda247.com/d/XhqWf9lSap

Adda

247

GET IT ON
Google Play

Q.26

Which of the following are non-projected aids?

A. Epidiascope

B. Audio Cassettes

C. Filmstrip and slides
D. Models

E. Plastigraph

Choose the correct answer from the options given below:

Options 1. 1

2.2
3.3
4.4

1. A and C only
2. B, C and E only
3. A, CandD only

4. B, D and E only

Question Type :
: 3767496657

: 37674925933
: 37674925934
Option 31D :

Question ID
Option 1 ID
Option 2 ID

Option 4 ID
Status

1 37674925936
: Answered
Chosen Option :

McQ

37674925935

1
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Q.27 A man gets annual pay of Rs 9.0 lakh. His expenditure and savings are in the ratio 5:1. What
is his average savings per month?
1. Rs 15,000
2. Rs 12,500
3.Rs 16,000
4. Rs 18,000
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496672
Option 1 ID : 37674925993
Option 2 ID : 37674925994
Option 3 ID : 37674925995
Option 4 ID : 37674925996
Status : Answered
Chosen Option : 2
Q.28 . : g ; ;
Two successive discounts of 10% and 15% are equivalent to a single discount of
1.23.5%
2.25%
3. 18.5%
4.22.5%
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496673
Option 11D : 37674925997
Option 2 ID : 37674925998
Option 3 ID : 37674925999
Option 4 ID : 37674926000
Status : Answered
Chosen Option : 1



https://applink.adda247.com/d/XhqWf9lSap

Adda

247

GET IT ON
Google Play
Q.29 : o : :
Which of the following is an example of non-impact printer?
1. Dot Matrix
2. Daisy Wheel
3. Line
4. Laser
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496680
Option 1 ID : 37674926025
Option 2 ID : 37674926026
Option 31D : 37674926027
Option 4 ID : 37674926028
Status : Answered
Chosen Option : 4
Q.30
Pedagogy refers to :
1. Teaching - Learning process
2. Child Psychology
3. Teaching Methods
4. Evaluation and Measurement of learning
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496654
Option 11D : 37674925921
Option 2 ID : 37674925922
Option 3 ID : 37674925923
Option 4 ID : 37674925924
Status : Answered
Chosen Option : 1
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Q.31

Match the LIST-T with LIST-IT

LIST-I LIST-II
A.|Teaching Aids I. | Online Education
B.|Chalk-board II. [ Non-Projective Aid
C.|Overhead Projector I11. f\:;;iigaiil;iﬁfs;ing
D.|MOOCs IV.| Projective Aid

Choose the correct answer from the options given below:

Options 1. 1

2.2
3.3
4.4

1. A-IIL. B-1, C-1V, D-II

2. A-ILL B-III, C-1, D-IV

3. A-II, B-III, C-IV, D-1

4 A-II

I, B-II. C-IV, D-1

Question Type

Option 1 ID
Option 2 ID
Option 31D
Option 4 ID

: MCQ
Question ID :
: 37674925937
1 37674925938
: 37674925939
: 37674925940

Status:
Chosen Option :

3767496658

Answered
4
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Q.32

Match the LIST-T with LIST-IT

LIST-I (Network Devices)

LIST-II (Functions)

A.|Bridge

Device that can receive
the data, analyse it and
transmit it to other
networks

B.|Router

II.

Set of rules that decides
how computers and
other devices connect
with each other through
cables in a LAN

C.| Gateway

III.

Serves as the entry and
exit point of a network

D.|Ethernet

IV.

Device that connects
one LAN to another
LAN that uses the same
protocol

Choose the correct answer from the options given below:

Options 1. 1

2.2
3.3
4.4

1. A-II, B-III, C-I, D-IV
2. A-IIL B-1L. C-I, D-IV
3. A-IV, B-1, C-11I, D-II

4. A-I, B-IV, C-III, D-II

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

McQ
3767496683
37674926037
37674926038
37674926039
37674926040
Answered

3
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Q.33 - ' : 3 :
Which among the following are correct in the context of distribution of terms?
A, “A’ Proposition distributes its predicate term
B. “E’ proposition distributes its subject and predicate terms
C. I’ proposition distributes only the subject term
D. *O’ proposition distributes only the predicate term
E. *A’ proposition distributes both its subject and predicate terms
Choose the correct answer from the options given below:
1. A and C only
2. A and B only
3. Cand E only
4. D and E only
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID
Option 11D
Option 2 ID
Option 31D
Option 4 ID
Status :
Chosen Option :

McQ

: 3767496677

137674926013
137674926014
: 37674926015
: 37674926016

Answered
2
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Q.34 Which of the following are correct in context of network security?

A. Virus, worms, and Trojan horse are examples of Malware
B. Trojan horse is a non-self-replicating malicious software
C. After receiving payment, if the product is not delivered it is an example of phishing
D. In https, *s’ stands for Secure
Choose the correct answer from the options given below:
1. A, B and C only
2.B, C and D only
3.A.CandD only

4. A, Band D only

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496682
Option 11D : 37674926033
Option 2 ID : 37674926034
Option 3 ID : 37674926035
Option 4 ID : 37674926036
Status : Answered
Chosen Option : 3
Q.35
Which of the following does not refer to a style of referencing?
1. MLA
2. APS
3. Chicago
4. MHRA
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496662
Option 1 ID : 37674925953
Option 2 ID : 37674925954
Option 3 ID : 37674925955
Option 4 ID : 37674925956
Status : Answered
Chosen Option : 4
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Q'36 " . v .
Who was the chairman of First Press Commission?
1. PK. Goswami
2. K. K. Mathew
3. G. S Rajadhyaksha
4. Girilal Jain
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496665
Option 1 ID : 37674925965
Option 2 ID : 37674925966
Option 3 ID : 37674925967
Option 41D : 37674925968
Status : Answered
Chosen Option: 2
Q.37 According to Naiyayikas, the universal soundness (sabdatva) inhering in sound is perceived
through.
1. Samavaya
2. Samaveta-Samavaya
3. Sarhyukta-Samaveta-Samavaya
4. Samyukta-Visesanata
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496675
Option 11D : 37674926005
Option 2 ID : 37674926006
Option 3 ID : 37674926007
Option 4 ID : 37674926008
Status : Answered
Chosen Option : 2
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Q.38 Identify the fallacy in the following :
"How do I know that ginseng tea is a cure for the common cold? Last week I had a bad case
of the sniffles. I drank a cup of ginseng tea and the next morning my sniftles were gone.
1. Slippery slope
2. Questionable cause
3. Hasty Generalization
4. The strawman
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496674
Option 1 ID : 37674926001
Option 2 ID : 37674926002
Option 31D : 37674926003
Option 4 ID : 37674926004
Status : Answered
Chosen Option : 2
Q.39 ; : o : : T
In which of the following categories did Charles Sanders Peirce classify the ‘signs’?
A, Object
B. Indices
C. Icons
D. Interpretant
E. Symbols
Choose the correct answer from the options given below:
1. A.B and C only
2. B, C and E only
3. C,D and E only
4. A.D and E only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496667
Option 1 ID : 37674925973
Option 2 ID : 37674925974
Option 3 ID : 37674925975
Option 4 ID : 37674925976
Status : Answered
Chosen Option : 3
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Q.40

Options 1. 1
2.2
3.3
4.4

Arrange the following in chronological sequence:

A. Start of external services of All India Radio

B. Establishment of film Division

C. Release of talkie film ‘Alam Ara’

D. Change of name of Radio Broadcasting to All India-Radio

Choose the correct answer from the options given below:

1. C DA B
2. B DA
3.A,B,C,D

4.D.C,A.B

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

McQ
3767496666
37674925969
37674925970
37674925971
37674925972
Answered

2
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Q.41 : . : 3 .
Which among the following are correct in the light of hypothesis?
A Tt is proved assumption
B. It should be capable of being tested
C. It should be inconsistent with the most known facts
D. It should state the relationship between variables
E. It should be limited in scope and must be specific
Choose the correct answer from the options given below:
1. A and C only
2. B, D and E only
3. A. B and C only
4. B, C and D only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496663
Option 1 ID : 37674925957
Option 2 ID : 37674925958
Option 3 ID : 37674925959
Option 4 ID : 37674925960
Status : Answered
Chosen Option: 3
Q.42 Which of the thermal pollution reduction method is most expensive to construct and operate?
1. Large shallow pond
2. Cooling tower
3. Sprinkler tower
4. Dry tower
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496685
Option 11D : 37674926045
Option 2 ID : 37674926046
Option 3 ID : 37674926047
Option 4 ID : 37674926048
Status : Answered
Chosen Option : 1
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Q.43

Which amongst the following cannot be associated with 'skills'

Options 1. 1

2.2
3.3
4.4

1. Practice
2. Learning
3. Proficiency

4. Incapacity

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status:

Chosen Option :

McQ
3767496690
37674926065
37674926066
37674926067
37674926068
Answered

4
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Q.44

Match the LIST-T with LIST-IT

Act

LIST-I (Environment laws) LIST-II (Year)
Air (Prevention and
A.| Control of Pollution) I. 11974
Act
B.|Forest Conservation Act | IT. [ 1981
Environmental
c. Protection Act e b
Water (Prevention and
D.| Control of Pollution) IV.| 1986

Choose the correct answer from the options given below:

Options 1. 1

2.2
3.3
4.4

1. A-I, B-III, C-1I, D-IV
2. A-II, B-IV, C-1II, D-1
3. A-IIL. B-1L. C-I, D-IV

4. A-II, B-1II, C-IV, D-1

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
3767496688
37674926057
37674926058
37674926059
37674926060
Answered

1
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Q.45

Options 1. 1
2.2
3.3
4.4

Unnat Bharat Abhiyan was launched in 2014 for

1. Promoting entrepreneurship
2. Promoting skill education
3. Connecting higher education institutes with the society and villages

4. Cottage and mid-size industries

Question ID
Option 1 ID
Option 2 ID
Option 31D
Option 4 ID

Status

Question Type :
: 3767496689

1 37674926061
: 37674926062
: 37674926063
1 37674926064
: Answered
Chosen Option :

McQ

3
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Comprehension:

Read the passage and answer the questions given below:

The 2004 earthquake and tsunami in Banda Aceh. Indonesia, stunned the world. It killed
over 230,000 people. and caused damage as far away as Africa. Less than a year later, an
earthquake in Pakistan killed 80,000 people. Earthquakes are sudden movements in the
earth’s crust that occur along faults (planes of weakness). where one rock mass slides past
another one. When movement along faults occurs gradually and relatively smoothly, it is
called creep or seismic slip and may be undetectable to the casual observer. When friction
prevents rocks from slipping easily. stress builds up until it is finally released with a sudden
jerk. The point on a fault at which the first movement occurs during an earth-quake is called
the epicenter.

Earthquakes have always seemed mysterious, sudden, and violent, coming without warning
and leaving ruined cities and dislocated landscapes in their wake. Cities such as Kobe, Japan
or Mexico City, parts of which are built on soft landfill or poorly consolidated soil, usually
suffer the greatest damage from earthquakes. Water-saturated soil can liquify when shaken.
Buildings sometimes sink out of sight or fall down like a row of dominoes under these
conditions.

SubQuestion No : 46

Q.46 : % : :
Parts of which of these are built on soft landfill or poorly consolidated soil?
1. Kobe Japan and Mexico city
2. Indonesia and Pakistan
3. Pakistan
4. Indonesia
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 2 ID
Option 3 ID
Option 4 ID
Status
Chosen Option :

McQ
3767496698
37674926093

: 37674926094
: 37674926095
: 37674926096
: Answered

1
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Comprehension:
Read the passage and answer the questions given below:

The 2004 earthquake and tsunami in Banda Aceh. Indonesia, stunned the world. It killed
over 230,000 people, and caused damage as far away as Africa. Less than a year later, an
earthquake in Pakistan killed 80,000 people. Earthquakes are sudden movements in the
earth’s crust that occur along faults (planes of weakness). where one rock mass slides past
another one. When movement along faults occurs gradually and relatively smoothly, it is
called creep or seismic slip and may be undetectable to the casual observer. When friction
prevents rocks from slipping easily. stress builds up until it is finally released with a sudden
jerk. The point on a fault at which the first movement occurs during an earth-quake is called
the epicenter.

Earthquakes have always seemed mysterious, sudden, and violent, coming without warning
and leaving ruined cities and dislocated landscapes in their wake. Cities such as Kobe, Japan
or Mexico City, parts of which are built on soft landfill or poorly consolidated soil, usually
suffer the greatest damage from earthquakes. Water-saturated soil can liquify when shaken.
Buildings sometimes sink out of sight or fall down like a row of dominoes under these
conditions.
SubQuestion No : 47
Q.47 ) ]
Main cause of earthquakes can be considered as:

1. Volcanic eruptions
2. Sudden movements in the earth's crust along faults

3. Flood

4. Extreme weather conditions
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 3767496695
Option 11D : 37674926081
Option 2 ID : 37674926082
Option 3 ID : 37674926083
Option 4 ID : 37674926084

Status : Answered

Chosen Option : 2
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Comprehension:

Read the passage and answer the questions given below:

The 2004 earthquake and tsunami in Banda Aceh. Indonesia, stunned the world. It killed
over 230,000 people. and caused damage as far away as Africa. Less than a year later, an
earthquake in Pakistan killed 80,000 people. Earthquakes are sudden movements in the
earth’s crust that occur along faults (planes of weakness). where one rock mass slides past
another one. When movement along faults occurs gradually and relatively smoothly, it is
called creep or seismic slip and may be undetectable to the casual observer. When friction
prevents rocks from slipping easily. stress builds up until it is finally released with a sudden
jerk. The point on a fault at which the first movement occurs during an earth-quake is called
the epicenter.

Earthquakes have always seemed mysterious, sudden, and violent, coming without warning
and leaving ruined cities and dislocated landscapes in their wake. Cities such as Kobe, Japan
or Mexico City, parts of which are built on soft landfill or poorly consolidated soil, usually
suffer the greatest damage from earthquakes. Water-saturated soil can liquify when shaken.
Buildings sometimes sink out of sight or fall down like a row of dominoes under these
conditions.
SubQuestion No : 48
Q.48 5 5

Gradual and smooth movement along fault is considered as:

1. Seismic jerk
2. Epicenter
3. Seismic slip

4. Fault rupture

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 3767496696
Option 11D : 37674926085
Option 2 ID : 37674926086
Option 31D : 37674926087
Option 4 ID : 37674926088

Status : Answered

Chosen Option: 3
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Comprehension:

Read the passage and answer the questions given below:

The 2004 earthquake and tsunami in Banda Aceh. Indonesia, stunned the world. It killed
over 230,000 people. and caused damage as far away as Africa. Less than a year later, an
earthquake in Pakistan killed 80,000 people. Earthquakes are sudden movements in the
earth’s crust that occur along faults (planes of weakness). where one rock mass slides past
another one. When movement along faults occurs gradually and relatively smoothly, it is
called creep or seismic slip and may be undetectable to the casual observer. When friction
prevents rocks from slipping easily. stress builds up until it is finally released with a sudden
jerk. The point on a fault at which the first movement occurs during an earth-quake is called
the epicenter.

Earthquakes have always seemed mysterious, sudden, and violent, coming without warning
and leaving ruined cities and dislocated landscapes in their wake. Cities such as Kobe, Japan
or Mexico City, parts of which are built on soft landfill or poorly consolidated soil, usually
suffer the greatest damage from earthquakes. Water-saturated soil can liquify when shaken.
Buildings sometimes sink out of sight or fall down like a row of dominoes under these
conditions.

SubQuestion No : 49

Q.49 According to the passage, which of the following can cause buildings to **sink out of sight™

during an earthquake?

1. Tsunamis

(o]

. Creep

[¥3]

. Shaking of water-saturated soil

4

. Soil expansion
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 3767496699
Option 11D : 37674926097
Option 2 ID : 37674926098
Option 3 ID : 37674926099
Option 4 ID : 37674926100

Status : Answered

Chosen Option: 3
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Comprehension:

Read the passage and answer the questions given below:

The 2004 earthquake and tsunami in Banda Aceh. Indonesia, stunned the world. It killed
over 230,000 people. and caused damage as far away as Africa. Less than a year later, an
earthquake in Pakistan killed 80,000 people. Earthquakes are sudden movements in the
earth’s crust that occur along faults (planes of weakness). where one rock mass slides past
another one. When movement along faults occurs gradually and relatively smoothly, it is
called creep or seismic slip and may be undetectable to the casual observer. When friction
prevents rocks from slipping easily. stress builds up until it is finally released with a sudden
jerk. The point on a fault at which the first movement occurs during an earth-quake is called
the epicenter.

Earthquakes have always seemed mysterious, sudden, and violent, coming without warning
and leaving ruined cities and dislocated landscapes in their wake. Cities such as Kobe, Japan
or Mexico City, parts of which are built on soft landfill or poorly consolidated soil, usually
suffer the greatest damage from earthquakes. Water-saturated soil can liquify when shaken.
Buildings sometimes sink out of sight or fall down like a row of dominoes under these
conditions.

SubQuestion No : 50

Q.50
What is the epicenter in an earthquake?

1. The point where the most damage occurs
2. The area with the highest population
3. The point on a fault where the first movement occurs

4. The center of a tsunami
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 3767496697
Option 11D : 37674926089
Option 2 ID : 37674926090
Option 3 ID : 37674926091
Option 4 ID : 37674926092

Status : Answered

Chosen Option : 3
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Q.51 Which mammalian immune organ among the following undergo involution with aging?

1. Thymus
2. Spleen
3. Lymph nodes

4. Tonsils
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 3767496747
Option 11D : 37674926289
Option 2 ID : 37674926290
Option 3 ID : 37674926291
Option 4 ID : 37674926292

Status : Answered

Chosen Option: 3
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Q.52

Match the List-T with List-II.

List-I List-II
(Hypersensitivity) (Immune Mediator)
A.|Type-1 Hypersensitivity | L. |IgG/IgM
B.| Type-2 Hypersensitivity | IL. [Ig E
C.| Type-3 Hypersensitivity |IIL.| T Cells
D.| Type-4 Hypersensitivity | IV. | Immune complexes

Choose the correct answer from the options given below:

Options 1. 1

2.2
3.3
4.4

1. A-III, B-II, C-IV, D-I
2. A-I. B-1I, C-III, D-IV
3. A-IV. B-1, C-III, D-IT

4. A-I1, B-1, C-1V, D-1II

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
3767496752
37674926309
37674926310
37674926311
37674926312
Answered

3
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Q.53

Options 1. 1
2.2
3.3
4.4

The Protection of Plant Varieties and Farmer's Rights Act of India enacted in:

1. 1952

2.1971

3.2001

4.2022

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
3767496783
37674926433
37674926434
37674926435
37674926436
Answered

3
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Q.54

Match the List-T with List-II.

List-I List-II
(Food conversion factors) (Functions)
A.|Ushma I. | Shaithilya
B.|Vayu II. | Mruduta
C.|Kleda II1. | Apakarshana
D.|Sneha IV. | Pachana

Choose the correct answer from the options given below:

Options 1. 1

2.2
3.3
4.4

1. A-II, B-1, C-1IV, D-III
2. A-I. B-IV, C-11I, D-IT
3. A-IIL B-II, C-IV. D-1

4. A-IV, B-111, C-I, D-II

Question Type

: MCQ
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

3767496731
37674926225
37674926226
37674926227
37674926228
Answered

4
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Q.55 While preparation of a formulations, if the useful part of a drug is not mentioned, then what
should be taken?
1. Leaves
2. Flowers
3. Root
4. Stembark
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496738
Option 11D : 37674926253
Option 2 ID : 37674926254
Option 3 ID : 37674926255
Option 4 ID : 37674926256
Status : Answered
Chosen Option : 1
Q.56 What is the correct order of the following herbal formulations in increasing order of thier
potency?
A Kalka
B. Hima
C. Swarasa
D. Phanta
E. Kwatha
Choose the correct answer from the options given below:
1. AB,C,D,E
2.E;D,C,;B,A
3.C,A.E.B,D
4.D,B,E.A,C
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496741
Option 11D : 37674926265
Option 2 ID : 37674926266
Option 3 ID : 37674926267
Option 4 ID : 37674926268
Status : Answered
Chosen Option : 3
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Q.57

Options 1. 1
2.2
3.3
4.4

Regulation of glycolytic pathway in muscles occurs via:

A. Allosteric modulation
B. Enzyme turnover

C. Feedback regulation
D. Compartmentalization
E. Covalent modification

1. A, B, E Only
2. A, C,EOnly
3.A,C,D, E Only

4.C,D, E Ounly

Choose the correct combination from the options given below:

Question Type :
Question ID :
Option 11D :

Option 2 ID
Option 3 ID
Option 4 ID

: 37674926410
1 37674926411
1 37674926412

Status :
Chosen Option :

McQ
3767496777
37674926409

Answered
3
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Q.58

A color blind man marries a homozygous normal woman. What is the probability of the son
being color blind?

i
2
5 1
4
3.0
4.1
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496760
Option 1 ID : 37674926341
Option 2 ID : 37674926342
Option 31D : 37674926343
Option 4 ID : 37674926344
Status : Answered
Chosen Option: 3
Q.59 s 5 @ i ; . :
The colloidal “ruby” gold nanoparticles properties were discovered by:
1. Erwin Muller
2. Michael Faraday
3. William Shaockley
4. Robert Hook
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496769
Option 1 ID : 37674926377
Option 2 ID : 37674926378
Option 31D : 37674926379
Option 4 ID : 37674926380
Status : Answered
Chosen Option : 3
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Q.60 To create a genetic map of gene on an autosome, which of the following crosses need to be

done?
1. Back cross
2. Test cross
3. Reciprocal cross

4. Double receprocal cross

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496761
Option 11D : 37674926345
Option 2 ID : 37674926346
Option 3 ID : 37674926347
Option 4 ID : 37674926348
Status : Answered
Chosen Option : 1
Q.61 : s E ; :
Which of the following is NOT a typical phase in Ayurveda start up development?
1. Clinical trials
2. Manufacturing scale up
3. Product marketing
4. Real estate investment
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496788
Option 11D : 37674926453
Option 2 ID : 37674926454
Option 3 ID : 37674926455
Option 4 ID : 37674926456
Status : Answered
Chosen Option : 4



https://applink.adda247.com/d/XhqWf9lSap

Addal247

GET IT ON
Google Play

Q.62

Which of the following are “Avidahi” Rasa

1. Lavana, Tikta, Kashaya
2. Madhura, Tikta. Kashaya
3. Madhura, Lavana, Kashaya

4. Tikta, Madhura, Katu

Options 1. 1

2.2
3.3
4.4

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :
Chosen Option :

McQ
3767496729
37674926217
37674926218
37674926219
37674926220
Answered

2
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Q.63

Match the List-T with List-II.

List-I List-II
(Panchmahabhuta) (Lakshan)
A.|Prithvi I. |Chalatva
B.| Tej II. | Kharatva
C.| Aakash 1. | Ushmatva
D.|Vayu IV. | Apratighata

Choose the correct answer from the options given below:

Options 1. 1

2.2
3.3
4.4

1. A-III, B-II, C-1, D-IV
2. A-I, B-II, C-1IV, D-III
3. A-IV. B-III, C-I, D-IT

4. A-11, B-1II, C-IV, D-1

Question Type
Question ID

: MCQ
: 3767496717
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:
Chosen Option :

37674926169
37674926170
37674926171
37674926172
Answered

4
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Q.64 . ; ; .
What is the correct sequence of events in a Polymerase Chain Reaction?
A. Addition of Taq
B. Denaturation
C. Termination
D. Annealing
E. Extension
Choose the correct answer from the options given below:
1.D,AB,C,E
2.A.B.D.E.C
3.B_D.AE.C
4.A.E,D,C.B
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:
Chosen Option :

McQ
3767496763
37674926353
37674926354
37674926355
37674926356
Answered

3



https://applink.adda247.com/d/XhqWf9lSap

Adda

247

GET IT ON
Google Play

Q.65

Match the List-T with List-II.

List-1 List-II
(Cofactor) {(Enzyme)

Thiamine
A. T —— I. | Glycogen phosphorvlase

Flavin Adenine
B. T —— II. | Pyruvate carboxylase
C.|Pyridoxal phosphate II1. | Glutathione Reductase
D.|Biotin IV. | Pyruvate dehydrogenase

Choose the correct answer from the options given below:

Options 1. 1

2.2
3.3
4.4

1. A-IV. B-1II, C-I. D-II
2. A-IIL B-IV, C-III. D-I
3. A-III, B-1V, C-1I, D-1

4. A-IL, B-1, C-1IV, D-III

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
3767496779
37674926417
37674926418
37674926419
37674926420
Answered

1
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Q.66 : ; s
What amongst these is NOT considered as component of P4 medicine?
1. Participatory
2. Predictive
3. Pharmacology
4. Personalised
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496758
Option 11D : 37674926333
Option 2 ID : 37674926334
Option 3 ID : 37674926335
Option 4 ID : 37674926336
Status : Answered
Chosen Option : 4
Q.67 ‘ .
What are the Shada (six) Padartha according to Ayurveda?
1. Prithvi, Jal, Vayu, Teja, Aakash, Mana
2. Dravya, Guna, Karma, Samanvya, Vishesh, Samavaya
3. Madhur, Amla, Lavana, Tikta, Katu, Kashaya
4. Ushma. Vayu, Kled, Sneha, Kala, Samyoga
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496709
Option 11D : 37674926137
Option 2 ID : 37674926138
Option 3 ID : 37674926139
Option 4 ID : 37674926140
Status : Answered
Chosen Option: 1
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Q.68 Which of the following are considered amongst eight veerya (potency) in Ayurvedic
Medicine
A. Guru
B. Teekshna
C. Sheeghra
D. Sheeta
E. Sthira
Choose the correct answer from the options given below:
1.B,C, D Only
2.C,D, E Only
3. A, B, D Only
4.B.D. E Only
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :
Status :
Chosen Option :

McQ
3767496712
37674926149
37674926150
37674926151
37674926152
Answered

3
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Q.69 Which statements are TRUE for bioinformatic analysis of genes and protein sequences:

A. E-value in multiple alingment in elution value

B. Genbank is a primary database

C. Evolutionary analysis is not possible with sequence analysis
D. BLAST is known as Basic Local Alignment Search Tool

E. DNA sequences are usually represented in FASTA format

Choose the correct combination from the options given below:

1. B, D, E Only
2. A, C,E Only
3.C.D.E Only
4. A, B, C Only
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:
Chosen Option :

McQ
3767496780
37674926421
37674926422
37674926423
37674926424
Answered

1
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Q.70

Options 1. 1
2.2
3.3
4.4

Which of the following are Jnanendrivas?

A. Ghranendriya
B. Shravanendriva
C. Vageendriya

D. Sparshnendriva
E. Hastendriya

1. B, C, D Only
2. E, D, AOnly
3.A . B.D Only

4.C,D, B Only

Choose the correct combination from the options given below:

Question Type :
: 3767496713
: 37674926153
: 37674926154
: 37674926155
: 37674926156
Status :
Chosen Option :

Question ID
Option 1 ID
Option 2 ID
Option 31D
Option 4 ID

MCQ

Answered
3
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Q.71

Which amongst the following are the main sites of Vata Dosha

A, Chest

B. Rectum
C. Eyes

D. Stomach

Choose the correct answer from the options given below:

Options 1. 1

2.2
3.3
4.4

1. Aand D Only
2. B and D Only
3. Aand B Only

4. D and C Only

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

McQ
3767496715
37674926161
37674926162
37674926163
37674926164
Answered

4
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Q.72
Match the List-I with List-IL.
. List-TI
(Rasl:;ﬁ:'_aln-'a] (Symbol of modern chemical
‘ equivalents)
A | Tamra I |Zn
B.|Vanga II. [Pb
C.|Yashada III.|Cu
D.|Naga IV.|Sn
Choose the correct answer from the options given below:
1. A-III, B-I, C-II, D-IV
2. A-IIL, B-IV, C-1, D-1I
3. A-I, B-II, C-III, D-IV
4. A-II, B-III, C-I, D-IV
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

McQ
3767496743
37674926273
37674926274
37674926275
37674926276
Answered

2
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Q.73 : ] ; :
Which of the following are the three Sutras in Trisutra Ayurveda?
1. Satva, Atma, Sharir
2. Dravya, Guna, Karma
3. Koshta. Shakha, Marma
4. Hetu, Linga. Aushadha
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496710
Option 1 1D : 37674926141
Option 2 ID : 37674926142
Option 3 ID : 37674926143
Option 4 ID : 37674926144
Status : Answered
Chosen Option : 2
Q'74 r . .
Which of the following are Manasika Dosha?
1. Chintyam, Vicharyam, Uhyam
2. Raja, Tama
3. Vata, Pitta, Kapha
4. Raga, Dvesha, Sukha-Dukha
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496722
Option 11D : 37674926189
Option 2 ID : 37674926190
Option 3 ID : 37674926191
Option 4 ID : 37674926192
Status : Answered
Chosen Option : 4
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Q.75

termed as:
1. Recombination
2. Transformation
3. Conjungation

4. Transduction

Options 1. 1
2.2
3.3
4.4

When a bacteriophage binds to the host bacterial cell and transfers the genetic material. it is

Question Type :
Question ID :
Option 11D :

Option2 1D :
Option 31D :
Option 41D :
Status :

Chosen Option :

McQ
3767496748
37674926293
37674926294
37674926295
37674926296
Answered

4
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Q.76

Match the List-T with List-II.

List-1 List-II

(Herbs) (Phytoconstituents)
A.|Vacha (ddI) I. | Asarone
B.|Hritpatri RED) II. | Aconitine
C.|Khadir (AER) III. | Digitoxin
D.|Vastsanabha (dcd-TH) |IV.|Catechin

Choose the correct answer from the options given below:

Options 1. 1

2.2
3.3
4.4

1. A-I, B-III, C-IV, D-IT
2. A-II, B-IV, C-1, D-III
3. A-IV, B-1II, C-I, D-II

4. A-IIl. B-L. C-IV. D-II

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
3767496735
37674926241
37674926242
37674926243
37674926244
Answered

3
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Q.77
Which among the following is NOT a lifestyle disorder
1. Coronary artery disease
2. Stroke
3. Type 1 diabetes
4. Type 2 diabetes
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496745
Option 11D : 37674926281
Option 2 ID : 37674926282
Option 31D : 37674926283
Option 4 ID : 37674926284
Status : Answered
Chosen Option : 3
Q.78
Down's Syndrome occurs because of:
1. Trisomy of the 18th chromosome
2. Trisomy of the 21st chromosome
3. Monosomy of the sex chromosome
4. Nullesomy of the 21st chromosome
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496762
Option 11D : 37674926349
Option 2 ID : 37674926350
Option 3 ID : 37674926351
Option 4 ID : 37674926352
Status : Answered
Chosen Option : 2
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Q.79 A phenotype in a population move away from the Hardy Weinberg equilibrium if the

population is subjected to which condition?

1. Random mating
2. A stable gene pool
3. Genetic drift

4. Geographical isolation

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 3767496765
Option 1 ID : 37674926361
Option 2 ID : 37674926362
Option 31D : 37674926363
Option 4 ID : 37674926364

Status : Answered

Chosen Option: 3
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Q.80 o
Cause of biodiversity losses are :
A. Herbivorous wild animals
B. Alien species invasion
C. Habitant loss and fragmentation
D. Creation of wild life sanctuaries
E. Over exploitation
Choose the correct combination from the options given below:
1.C,D, E Only
2.B,C,EOnly
3. A, C E Only
4. A, B, C Only
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 2 ID
Option 31D
Option 4 ID
Status :
Chosen Option :

McQ
3767496782
37674926429

: 37674926430
137674926431
1 37674926432

Answered
2
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Q.81 -
Western blotting is:
1. DNA blot probed with DNA oligonucleotides
2. RNA blot probed with DNA oligonucleotides
3. Protein blot probed with Antibody
4. Protein blot probed with DNA oligonucleotides
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496787
Option 11D : 37674926449
Option 2 ID : 37674926450
Option 3 ID : 37674926451
Option 4 ID : 37674926452
Status : Answered
Chosen Option: 2
Q.82 ; : = :
Which among the following is NOT a type of Pramana (evidence type)?
1. Samvaya
2. Upaman
3. Yukti
4. Arthapatti
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496728
Option 11D : 37674926213
Option 2 ID : 37674926214
Option 3 ID : 37674926215
Option 4 ID : 37674926216
Status : Answered
Chosen Option : 1
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Q.83

Options 1. 1
2.2
3.3
4.4

1.H

2.M

3.T

4.Y

Guidelines for good manufacturing practices for Ayurveda. Siddha and Unani drugs are
placed in which schedule of Drugs and Cosmetics, Rules 1945

Question Type :
Question ID :

Option 1 ID
Option 2 ID
Option 31D
Option 4 ID
Status:

Chosen Option :

McQ
3767496740

1 37674926261
1 37674926262
1 37674926263
1 37674926264

Answered
1
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Q.84

Match the List-T with List-II.

Avurveda

List-1 List-II
(Avurveda Kal) (Time Period)

A Samnita Kal I 141:1.1 Century to Modern
Period
5th Century to 6th

B.| Vyakhya Kal II. R

cls h Kal 10 7th Century to 15th

.| Sangrah | P—
p,|Emergence Period of 1y | 1500 5 ¢ t0 1000 B. €

Choose the correct answer from the options given below:

Options 1. 1

2.2
3.3
4.4

1. A-I. B-IV, C-11I, D-IT
2. A-II, B-1II, C-I, D-IV
3. A-IIL, B-1, C-II, D-IV

4. A-IV, B-I1I, C-II, D-I

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
3767496705
37674926121
37674926122
37674926123
37674926124
Answered

2
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Q.85

What are four pillars of therapy amongst the following-

Options 1. 1

2.2
3.3
4.4

1. Vaidya. Dravya. Upasthata and Rogi
2. Dakshata, Vyadhinash, Chaturta and Smaran Shakti

3. Dravya, Chaturta. Vaidya and Upasthata

4. Aushadh Kalpna. Pavitrata, Shastragyan and Nirbhayata

Question Type

Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

: MCQ
Question ID :
1 37674926133
1 37674926134
: 37674926135
: 37674926136

Status :
Chosen Option :

3767496708

Answered
4
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Q.86

Find the most appropriate match for items listed under:

List-1 List-II
N Ayurvedic - Adverse drug reaction
| Pharmacopoeia of India | = |reporting
B. Shelt It of Agurvedic II. | Disintegration Time
durgs
C.|Pharmacovigilance III.|Rule 161B
D Tablet v Standards for Ayurvedic
durgs

Choose the correct answer from the options given below:

Options 1. 1

2.2
3.3
4.4

1. A-IV. B-1II, C-II. D-I
2. A-IV, B-1II, C-I, D-II
3. A-I, B-1I, C-1II, D-IV

4. A-I, B-IV, C-III. D-II

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
3767496744
37674926277
37674926278
37674926279
37674926280
Answered

2
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Q.87 : :
Which of the following statements are TRUE for promoter of a gene:
A. They are orientation dependent
B. They are orientation independent
C. They are present in 3'-region of the gene
D. They are present in 5'-region of the gene
E. They are important for gene expression
Choose the correct combination from the options given below:
1. A, D, E Only
2. A, C, E Only
3.B, D, E Only
4.B, C, D Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496766
Option 11D : 37674926365
Option 2 ID : 37674926366
Option 3 ID : 37674926367
Option 4 ID : 37674926368
Status : Answered
Chosen Option : 2
Q.88 ‘Which of the following among Nidana Panchaka relates to modern disease mechanistic
studies?
1. Hetu
2. Lakshana
3. Purvaroopa
4. Samprapti
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496759
Option 11D : 37674926337
Option 2 ID : 37674926338
Option 3 ID : 37674926339
Option 4 ID : 37674926340
Status : Answered
Chosen Option : 4
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Q.89

Match the List-T with List-II.

List-1 List-II
(Organism) (Sex determination)
A.|Honey Bees I. | X : Y chromosome
B. sk owi II. | Genic sex determination
melanogester
C.|Mice ITII.| X : A Ratio
D. Sacch_af’omyces IV. | Haplodiploidy
cerevisiae

Choose the correct answer from the options given below:

Options 1. 1

2.2
3.3
4.4

1. A-II, B-I1, C-IV, D-III
2. A-ILL B-1III, C-1, D-IV
3. A-IIL, B-1, C-1IV, D-II

4. A-IV, B-111, C-I. D-II

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
3767496768
37674926373
37674926374
37674926375
37674926376
Answered

1
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Q.90

Match the List-T with List-II.

List-I List-II
(Dosha) (Main Site)
A.|Apanavayu I. | Basti
B.| Vyaanavayu II. | Koshtha
C.|Samanvayu II1. | Hridaya
D.|Pranvayu IV. | Moordha

Choose the correct answer from the options given below:

Options 1. 1

2.2
3.3
4.4

1. A-II, B-III, C-I, D-IV
2. A-I. B-III, C-II, D-IV
3. A-I. B-IV, C-11, D-IIT

4. A-IIL, B-1IV, C-1, D-I1

Question Type
Question ID

: MCQ
: 3767496725
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:
Chosen Option :

37674926201
37674926202
37674926203
37674926204
Answered

3
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Q.91 According to the general rule, what is the ratio of Kalka: Snehadravya :: Dravadravya in the
preparation of Sneha Kalpana?
l.1:4::16
2.2 4
31832
4122205
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496737
Option 11D : 37674926249
Option 2 ID : 37674926250
Option 3 ID : 37674926251
Option 4 ID : 37674926252
Status : Answered
Chosen Option : 3
Q.92 Following Prakriti features can be correlated with which phenotyping methods developed in
modern science.
List-1 List-II
(Prakriti features) (Modern phenotyping methods)
Al Aakriti I. | Chronotypes
B.|Varna II. [ Somatotypes
C.|Nidra III. | Phototypes
D.| Agni-koshtha IV. [ Metabotypes
Choose the correct answer from the options given below:
1. A-ITL. B-II, C-IV. D-1
2. A-IV, B-I, C-IIL, D-II
3. A-II, B-IV. C-1, D-III
4. A-II, B-III, C-1, D-IV
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496767
Option 11D : 37674926369
Option 2 ID : 37674926370
Option 3 ID : 37674926371
Option 4 ID : 37674926372
Status : Answered
Chosen Option : 1



https://applink.adda247.com/d/XhqWf9lSap

Adda

Arrange the following WBC types in increasing order of their count in normal human blood.

A, Neurophils
B. Basophils

C. Lymphocytes
D. Monocytes
E. Eosinophils

Choose the correct answer from the options given below:
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Q.93 ; . . B % :
The Indian Legislature - Patents Act of India was mainly introduced in the year:
1. 1970
2. 1955
3. 1984
4.2012
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496771
Option 1 ID : 37674926385
Option 2 ID : 37674926386
Option 3 ID : 37674926387
Option 4 ID : 37674926388
Status : Answered
Chosen Option : 1
Q.94

1.A,C.B.D.E
2.E.B,D,CA
3.A,C.D.B.E
4. B.E.C.D. A
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

MCQ
3767496749
37674926297
37674926298
37674926299
37674926300
Answered

3
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Q.95

Which of the following bond is NOT a part of the Polynucleotide sequence?

1. Hydrogen bond
2. Phosphodiester bond
3. Amide bond

4. Glycosidic bond

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496772
Option 11D : 37674926389
Option 2 ID : 37674926390
Option 31D : 37674926391
Option 4 ID : 37674926392
Status : Answered
Chosen Option: 3
Q.96 : . : : : .
Consider the following steps involved in Avaleha preparation. The correct sequence is:
A. Preparation of Kwatha
B. Reduction of mixture to proper consistency
C. Addition of sweetening agent
D. Addition of prakshepa dravya
E. Addition of honey
Choose the correct answer from the options given below:
LA BOILE
2.A,C,D,B,E
3. A,C. B, D, E
4.B,C,AE.D
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496742
Option 11D : 37674926269
Option 2 ID : 37674926270
Option 3 ID : 37674926271
Option 4 ID : 37674926272
Status : Answered
Chosen Option : 2
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Q.97

Match the List-I with List-II.

List-I List-II
(Dhatu) (Function)
A.|Rakta I. | Snehana
B.|Rasa II. | Dhaarana
C.| Asthi III. | Preenana
D.|Meda IV.|Jeevana

Choose the correct answer from the options given below:

Options 1. 1

2.2
3.3
4.4

1. A-IIL, B-IV, C-II. D-I
2. A-II, B-1, C-1IV, D-III
3. A-IV, B-III, C-II. D-I

4. A-L, B-IIL, C-IV, D-II

Question Type
Question ID
Option 1 ID

: MCQ
: 3767496726
: 37674926205
Option 21D :
Option 31D :
Option 41D :
Status:
Chosen Option :

37674926206
37674926207
37674926208
Answered

3
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.98 : : 2 :
Q According to Ayurveda the appropriate sequence for use of Rasa in Ahara is-

A. Madhura

B. Amla, Lavana
C. Katu

D. Tikta

E. Kashaya

Choose the correct answer from the options given below:
1.B,A.C,E,D

2.D.B;CEA

3:-A/B,C,D,E
4. A.D,B.C,E
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

McQ
3767496732
37674926229
37674926230
37674926231
37674926232
Answered

3
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Q.99 . _
In biotech startups, what does “Scaling up™ refer to?
1. Increasing company size
2. Expanding new markets
3. Increasing the production
4. Raising more funds
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496781
Option 11D : 37674926425
Option 2 ID : 37674926426
Option 3 ID : 37674926427
Option 4 ID : 37674926428
Status : Answered
Chosen Option : 3
Q.100 : 4 ;
The receptor for Human Immunodeficiency Virus-I on the target cells is:
1.€D 1
2.6 3
3.CD 4
4.CD8
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496746
Option 11D : 37674926285
Option 2 ID : 37674926286
Option 3 ID : 37674926287
Option 4 ID : 37674926288
Status : Answered
Chosen Option : 3
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Q.101
Match the List-T with List-II.
LIST-I LIST-II
(Technmique) (Procedure)
G s Use of DNA for blotting
A.|Northern hybridizaiton | L T e
B.| Western Blotting II. | Use of SYBR green
s g Use of RNA for blotting
C.|Southern hybridizaiton |IIIL. i A e
Use of protein for
D.|Real-time PCR IV.| blotting and antibody as
a probe
Choose the correct answer from the options given below:
1. A-TI, B-IV, C-III. D-I
2. A-IIL B-L, C-IV. D-II
3. A-T1 B-III, C-IV, D-II
4. A-II1, B-1V, C-1, D-II
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

McQ
3767496770
37674926381
37674926382
37674926383
37674926384
Answered

2



https://applink.adda247.com/d/XhqWf9lSap

Addal247

GET IT ON

Google Play

Q.102

Options 1. 1
2.2
3.3
4.4

1. Hllumina short-read sequencing
2. Sanger sequencing
3. Maxim-Gilbert sequencing

4. Meta sequencing

Which of the DNA sequencing method is treated as Next-Generation Sequencing method?

Question Type :
: 3767496756

: 37674926325
: 37674926326
: 37674926327
: 37674926328

Question ID
Option 11D
Option 2 ID
Option 31D
Option 4 ID
Status :

Chosen Option :

McQ

Answered
3
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Q.103

Options 1. 1
2.2
3.3
4.4

The Neuromuscular Junction has the following characteristics:

A. Activation of B-adrenergic receptors

B. Activation of Rynodine receptors

C. Activation of myosine light chain kinase
D. Opening of Nicotinic receptors

E. Entry of Nations

Choose the correct combination from the options given below:

1. C, D, E Only
2.B. D, E Only
3.A.D, E Only

4. A, B, C Only

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
3767496776
37674926405
37674926406
37674926407
37674926408
Answered

1
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Q.104 .
What is the full form of A-HMIS?
1. Ayurveda and Homeopathy medicine and Information System
2. Allopathy Health Management Information System
3. AYUSH Health Management Information System
4. Ayurveda Health Management Identification System
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496789
Option 11D : 37674926457
Option 2 ID : 37674926458
Option 3 1D : 37674926459
Option 4 ID : 37674926460
Status : Answered
Chosen Option: 3
Q.105 : T 5
Which among the following is not the disciple of Punarvasu Atreya?
1. Agnivesha
2. Bhela
3. Bharadwaja
4. Jatukarna
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496701
Option 11D : 37674926105
Option 2 ID : 37674926106
Option 3 ID : 37674926107
Option 4 ID : 37674926108
Status : Answered
Chosen Option: 3
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Q.106

During an experiment, the weight of mice from control and test group were measured. The
average weight of mice in both groups are:

‘Weight in |Test mice
control weight

32 21
28 28
26 26
31 25
33 24
29 22

1. 29.8 Control and 24.2 test
2. 29.8 Control and 24.3 Test
3. 29.4 Control and 24.3 Test

4. 30.4 Control and 24.1 Test
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 3767496786
Option 11D : 37674926445
Option 2 ID : 37674926446
Option 3 ID : 37674926447
Option 4 ID : 37674926448

Status : Answered

Chosen Option : 2
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Q.107 ; ; 5 ;
Correct sequence of the numbers of nerves, veins, arteries, muscles and vitals (Marma) in a
healthy body as per Charaka:
A, Nine hundred
B. Two hundred
C. Seven hundred
D. Four hundred
E. One hundred and seven
Choose the correct answer from the options given below:
1.A.C,B.,D.E
2.CAD.E,B
3.B.D.E.A.C
4D.B.ACE
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496721
Option 11D : 37674926185
Option 2 ID : 37674926186
Option 31D : 37674926187
Option 4 ID : 37674926188
Status : Answered
Chosen Option: 2
Q.108 Which one of the following disciplines of modern science can explain the significance of the
time of Administration of medicine in Ayurveda?
1. Network pharmacology
2. Pharmaco-genomics
3. Chrono-pharamacology
4. Clinical genomics
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496718
Option 11D : 37674926173
Option 2 ID : 37674926174
Option 31D : 37674926175
Option 4 ID : 37674926176
Status : Answered
Chosen Option : 3
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Q.109

described in Ayurveda
A. Instant fatal
B. Eventually fatal
C. Pain inflicting

D. Fire Dampening
E. Dosha vitiating

Choose the correct combination from the options given below:

1. A and B Only
2.B and C Only
3. C and D Only

4. D and E Only

Options 1. 1
2.2
3.3
4.4

Which of the following are NOT a type of Marma (A place of a special vulnerability)

Question Type :
: 3767496724
: 37674926197
: 37674926198
: 37674926199
: 37674926200
: Answered
Chosen Option :

Question ID
Option 11D
Option 2 ID
Option 3 ID
Option 4 ID

Status

McQ

2
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Q.110 : : g ; ;
Which among the following pathogen and disease pairs are incorrectly matched:
A. E. histatytica - amaebiasis
B. Wuchereria - elephantasis
C. Ascaris - ringworms
D. Aspergillus - warts
E. P vivax - cerebral malaria
Choose the correct answer from the options given below:
1. A.Band C Only
2. B, C and D Only
3.C.D and E Only
4. A. B and E Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496751
Option 1 ID : 37674926305
Option 2 ID : 37674926306
Option 31D : 37674926307
Option 4 ID : 37674926308
Status : Answered
Chosen Option : 4
Q.111 : s B : : 2
Which of the following is associated with Pangvandhu Nyay (Blind-Lame theory)
1. Man and Atman
2. Indriya and Man
3. Atman and Indriva
4. Sharir and Aayu
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496711
Option 1 ID : 37674926145
Option 2 ID : 37674926146
Option 31D : 37674926147
Option 4 ID : 37674926148
Status : Answered
Chosen Option : 2
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Q.112 : : ; : :
Which of the following process is used for prepartion of Bhasmas in Ayurveda
1. Puta
2. Urdhav Patana
3. Murchana
4. Sattva Patana
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496739
Option 1 ID : 37674926257
Option 2 ID : 37674926258
Option 31D : 37674926259
Option 4 ID : 37674926260
Status : Answered
Chosen Option : 3
Q.113 ; R : .
Arrange in correct sequence the contribution of the following factors in development of
Prakriti:
A Kalgarbhashya Prakriti
B. Shukra Shonit Prakriti
C. Mahabut vikara Prakriti
D. Maturahar vikara Prakriti
Choose the correct answer from the options given below:
L.B. D, CaA
2.B,A.D.C
3.A,B,C.D
4. A,B. D C
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496706
Option 11D : 37674926125
Option 2 ID : 37674926126
Option 3 ID : 37674926127
Option 4 ID : 37674926128
Status : Answered
Chosen Option : 3
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Q114 Consider the following facts regarding “Guggulu™ as per Bhava Prakasha Nighantu.
A. Naveen Guggulu is Vrishya
B. Purana Guggulu is Vrishya
C. Amla Rasa is indicated along with Guggulu
D. Guggulu is also a Rasayana
E. Guggulu pacifies all the three doshas
Choose the correct combination from the options given below:
1. B, D, E Ounly
2.E,C, AQnly
3. A.D,E Only
4.B. C. E Only
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID
Option 11D :
Option 2 ID
Option 31D
Option 4 ID
Status
Chosen Option :

McQ

: 3767496734

37674926237

: 37674926238
1 37674926239
1 37674926240
: Answered

1
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Q.115

Options 1. 1
2.2
3.3
4.4

Match the List-I with List-II.

List-I List-II

(Herbs) (Botanical Name)
A.|Bhanga L. | Acorus calamus
B.|Bhringraj I1. | Vitex negundo
C.|Vacha 1. | Cannabis sativa
D.|Nirgundi IV. | Eclipta alba

1. A-IV, B-III, C-II. D-I
2. A-II, B-I, C-III, D-IV
3. A-IIL B-IV, C-1I. D-I

4. A-IIL, B-1IV, C-1, D-I1

Choose the correct answer from the options given below:

Question Type
Question ID
Option 1 1D

: MCQ
: 3767496736
: 37674926245
Option 21D :
Option 31D :
Option 41D :
Status:
Chosen Option :

37674926246
37674926247
37674926248
Answered

3
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Q.116 . ;
What are the Sharir Guna according to the Ayurveda?
1. Gurvadi - 20
2. Paradi - 10
3. Shabdadi - 5
4. Prayatnanta - 6
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496707
Option 11D : 37674926129
Option 2 ID : 37674926130
Option 3 ID : 37674926131
Option 4 ID : 37674926132
Status : Answered
Chosen Option: 2
Q.117 : . . . ;
Which of the following is NOT a part of Dashvidha Rogi-Roga Pariksha?
L. Prakriti
2. Parimana
3. Pramana
4. Ahara Shakti
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496750
Option 11D : 37674926301
Option 2 ID : 37674926302
Option 3 ID : 37674926303
Option 41D : 37674926304
Status : Answered
Chosen Option : 4
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Q.118

Options 1. 1
2.2
3.3
4.4

The pathway for cellular respiration is in following order:

A. Generation of Acelyl-CoA

B. Generation of reducing equivalents
C. Tri carboxylic acid cycle

D. Action of F1 Fo ATPase

E. Co-transport of primary biomolecules

Choose the correct answer from the options given below:

1.4 BB CD
2B AC.B.D
3.D/E. A C.B

4.E,.C.A,B.D

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
3767496774
37674926397
37674926398
37674926399
37674926400
Answered

2
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Q.19 _ ‘ _
How many types of Dhatvagni are described in Ayurveda?
1. Five
2. Three
3. Seven
4. Thirteen
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496720
Option 11D : 37674926181
Option 21D : 37674926182
Option 31D : 37674926183
Option 41D : 37674926184
Status : Answered
Chosen Option : 1
Q'120 . P f
Panchabautika composition of "Kashaya Rasa" is
1. Vayu + Akasha
2. Prithavi + Akasha
3. Prithavi + Vayu
4. Vayu + Jala
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496727
Option 1 ID : 37674926209
Option 2 ID : 37674926210
Option 3 ID : 37674926211
Option 4 ID : 37674926212
Status : Answered
Chosen Option : 2
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21 i : ' G 0% :
Q Which of the following subtypes of Kapha is related to lubrication of Joints

1. Tarpak
2. Shleshak
3. Avalambak

4. Kledak
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 3767496719
Option 11D : 37674926177
Option 2 ID : 37674926178
Option 31D : 37674926179
Option 4 ID : 37674926180

Status : Answered

Chosen Option: 3
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Q.122

Options 1. 1
2.2
3.3
4.4

Match the List-T with List-II.

List-1 List-II
(Virus species) (Genus)
A.|Chandipura Virus I. |Flevivirus
B C.Iolorado tick fever 1 | orbivieus
Virus
. JE.'p R eHECphation III. | Vesiculovirus
Virus
D.| Chikungunya virus IV. | Alphavirus

1. A-IIL, B-II, C-I, D-IV
2. A-ILL B-1III, C-1, D-IV
3. A-L, B-1II, C-IV, D-II

4. A-IIL, B-1V, C-I. D-II

Choose the correct answer from the options given below:

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
3767496753
37674926313
37674926314
37674926315
37674926316
Answered

3
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Q.123

Options 1. 1
2.2
3.3
4.4

Consider the following facts regarding Veerya:

A. Laghu Veerya will vitiate Vata

B. Sheeta veerya will pacify Vata and Kapha
C. Mrudu veerya will pacify Pitta

D. Mrudu veerya will vitiate Vata

E. Ruksha veerya will vitiate Pitta

Choose the correct combination from the options given below:

1. B, C and E Only
2. B, D and E Only
3. A.Band D Only

4. Aand C Only

Option 2 ID
Option 3 ID
Option 4 ID

Chosen Option

Question Type :
Question ID :
Option 11D :

1 37674926234

: 37674926235

1 37674926236

Status :

12

McQ
3767496733
37674926233

Answered
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Q.124

Regulation of electrolyte balance occurs in the following sequence:

A. Release of Aldosterone

B. Synthesis of Renin

C. Sodium reabsorption from kidney
D. Activation of Osmoreception

E. Production of Angiotensin

Choose the correct answer from the options given below:

1L.EBD,CA
2.8, AT
3:B, D EAC

4. A.B,C.D,E

Options 1. 1

2.2
3.3
4.4

Question Type :

Question ID
Option 1 ID
Option 2 ID

Option 4 ID

: 3767496775
1 37674926401
: 37674926402
Option 31D :
1 37674926404
Status:
Chosen Option :

McQ

37674926403

Answered
4
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Q.125 Which among the following is chapter sequence of Bhesaj chatushka in Sutra Sthan of

Charak Sambhita?
1.2, 1,56
2.1,3.4.7
3.8,10,9, 11

4.1,2,3,.4
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 3767496702
Option 11D : 37674926109
Option 2 ID : 37674926110
Option 31D : 37674926111
Option 4 ID : 37674926112

Status : Answered

Chosen Option : 3
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Q.126

Match the List-I with List-II.

List-I List-IT
(Branch of Ayurveda) (Branch of modern medicine)
A.|Kayachikitsa I. |Regenerative medicine
B.|Shalya Tantra II. | Internal medicine
C.|Rasayana II1. | Opthalmology
D.|Shalakya Tantra IV. | Surgery

Choose the correct answer from the options given below:

Options 1. 1

2.2
3.3
4.4

1. A-I, B-IV, C-II, D-III
2. A-ILL B-1III, C-I, D-IV
3. A-II, B-IV, C-1, D-IIT

4. A-IV, B-111, C-II, D-I

Option 1 1D

Question Type :
Question ID :

: 37674926113
Option 21D :
Option 31D :
Option 41D :
Status:

Chosen Option :

McQ
3767496703

37674926114
37674926115
37674926116
Answered

2
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Q127 Which of the following solvents are used for extraction of non-polar components of a plant
material?
1. Ethanol
2. Methanol
3. Water
4. Hexane
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496784
Option 11D : 37674926437
Option 2 ID : 37674926438
Option 3 ID : 37674926439
Option 4 ID : 37674926440
Status : Answered
Chosen Option : 2
Q128 You wish to identify novel flavonol from a medicinal plant extract. Which of the following
techniques is most suitable?
L. HPLC
2. HPTLC
3. LC-MS/ MS
4. GC-Gas chromatography
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496785
Option 1 ID : 37674926441
Option 2 ID : 37674926442
Option 31D : 37674926443
Option 4 ID : 37674926444
Status : Answered
Chosen Option : 2
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Q.129 ‘ .
Which among the following are Pranayatana?
A. Kantha and Hridya
B. Amashaya and Pakwashaya
C. Nabhi and Guda
D. Tvacha and Jihva
Choose the correct answer from the options given below:
1. Aand C Only
2. B and D Only
3. C and B Only
4. D and A Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496723
Option 11D : 37674926193
Option 2 ID : 37674926194
Option 31D : 37674926195
Option 4 ID : 37674926196
Status : Answered
Chosen Option : 2
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Q.130 ]
Term “Genome”™ is the:
1. Entire sequence of protein coding genes
2. Entire sequence of diploid (2n) DNA content
3. Entire sequence of haploid (n) DNA content
4. Entire sequence of a particular chromosome
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496755
Option 11D : 37674926321
Option 2 ID : 37674926322
Option 31D : 37674926323
Option 4 ID : 37674926324
Status : Answered
Chosen Option: 2
Q.131 ) o
The word *Micturition” Means
1. Formation of urine
2. Renal reabsorption
3. Glomerular filteration
4. Release of urine
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496773
Option 11D : 37674926393
Option 2 ID : 37674926394
Option 3 ID : 37674926395
Option 4 ID : 37674926396
Status : Answered
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Q.132

Which among the following veda is closer to Ayurveda?

Options 1. 1

2.2
3.3
4.4

1. Rigveda
2. Samveda
3. Yajurveda

4. Atharvaveda

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :
Chosen Option :

McQ
3767496700
37674926101
37674926102
37674926103
37674926104
Answered

4
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Q.133

Options 1. 1
2.2
3.3
4.4

Which statements are TRUE for a plasmid vector?

A. Repressor sequence

B. Multiple cloning site

C. Antibiotic selection marker

D. Reverse transcription capabilities
E. Origin of replication ‘Ori’

1. A, C, E Only
2. A, D, E Only
3.A,C,DOnly

4.B, C,E Only

Choose the correct combination from the options given below:

Question Type :
Question ID :
Option 11D :

Option 2 ID
Option 31D
Option 4 ID

: 37674926358
: 37674926359
: 37674926360

Status :
Chosen Option :

McQ
3767496764
37674926357

Answered
4
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134 i : : : F
Q Which amongst the following is more dominant Dosha type in Aanup Desha:

A, Kapha

B. Pitta

C. Rasa

D. Vata

Choose the correct answer from the options given below:

1. Aand D Only

2. C and B Only

3. D and C Only

4. B and A Only

Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 2 ID
Option 31D
Option 4 ID
Status :
Chosen Option :

McQ
3767496714
37674926157

: 37674926158
1 37674926159
137674926160

Answered
3
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Q.135
Which of the following is TRUE for nucleosome core?
1. Consist of H1 histone protein
2. Consist of one unit each of H>A, H>B, Hy and Hy
3. Consist of two units each of H,A, H>B. Hy and H,
4. Consist of two units of H; protein
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496754
Option 11D : 37674926317
Option 2 ID : 37674926318
Option 3 ID : 37674926319
Option 4 ID : 37674926320
Status : Answered
Chosen Option : 3
Q.136 : : ; : Gt ;
Which technique is used for identifying bacteria at molecular level?
1. 18s ribosomal RNA sequencing
2. 16s ribosomal RNA sequencing
3. 32s ribosomal RNA sequencing
4. 24s ribosomal RNA sequencing
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496757
Option 11D : 37674926329
Option 2 ID : 37674926330
Option 3 ID : 37674926331
Option 4 ID : 37674926332
Status : Answered
Chosen Option: 2
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Q.137

Match the List-T with List-II.

List-I List-II
{(Physiology) (Hormone)
% Regulation of metabolic i | Eryibropoictin
rate
B Regulation of Blood 1. | Epinepivine
Pressure
C.|RBC synthesis III. | Thyroxine
D.| Stress Response IV. | Vasopressin

Choose the correct answer from the options given below:

Options 1. 1

2.2
3.3
4.4

1. A-IIL, B-II, C-I, D-IV
2. A-IV. B-1, C-1I1, D-IIT
3. A-IIL, B-1V, C-1, D-II

4. A-IL, B-1V, C-1. D-III

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

McQ
3767496778
37674926413
37674926414
37674926415
37674926416
Answered

3
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Q.138 : o -
Which among the following is a commentator of Charak Sambhita?
A. Chakrapani Dutta
B. Hemadri
C. Jejjat
D. Vachaspati
Choose the correct combination from the options given below:
1. A and B Only
2. B and C Only
3. C and D Only
4. A and C Oanly
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496704
Option 11D : 37674926117
Option 2 ID : 37674926118
Option 3 ID : 37674926119
Option 4 ID : 37674926120
Status : Answered
Chosen Option : 1
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Q.139

Options 1. 1
2.2
3.3
4.4

Match the List-T with List-II.

List-1 List-II
(Term) (Karma/ Utpatti)
A.|Man L. | Vayu
B.|Purush II. | Bhautika
C.|Indriya II1. | Shaddhatu
D.|Mahabhuta IV. | Chintya

1. A-L, B-II, C-III, D-IV
2. A-1V, B-1I1, C-II, D-1
3. A-III, B-II, C-1V, D-1

4. A-II. B-IV, C-1. D-III

Choose the correct answer from the options given below:

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
3767496716
37674926165
37674926166
37674926167
37674926168
Answered

2
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Q.140 ; s
Which Rasa is best for “Stanya Janana™
1. Madhura
2. Tikta
3. Kashaya
4, Katu
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496730
Option 1 ID : 37674926221
Option 2 ID : 37674926222
Option 31D : 37674926223
Option 4 ID : 37674926224
Status : Answered
Chosen Option : 2
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Comprehension:
Please read the passage and answer the following questions:

A 25 year old man with a tall lean frame with wrinkled skin. sparse hair with premature
greying showed excessive sweating with body odor. He had an aggressive and irritable
behavior and complained of skin rashes and episodes of stomatitis especially during the
festival season of Diwali. He loves travelling and eating-out but is very particular about who
he travels with. Because of his recurrent skin and hair issues. he has been advised by a
family member to consult with an Ayurvedic practitioner to adopt some life style changes.

SubQuestion No : 141
Q.1 Which of the following drugs he can be advised to address the skin and hair problems?

1. Triphala Rasayana
2. Trikatu
3. Panchakola

4. Bhallataka Rasayana

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 3767496794
Option 11D : 37674926473
Option 2 ID : 37674926474
Option 3 ID : 37674926475
Option 4 ID : 37674926476

Status : Answered

Chosen Option : 1
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Comprehension:
Please read the passage and answer the following questions:

A 25 year old man with a tall lean frame with wrinkled skin. sparse hair with premature
greying showed excessive sweating with body odor. He had an aggressive and irritable
behavior and complained of skin rashes and episodes of stomatitis especially during the
festival season of Diwali. He loves travelling and eating-out but is very particular about who
he travels with. Because of his recurrent skin and hair issues. he has been advised by a
family member to consult with an Ayurvedic practitioner to adopt some life style changes.

SubQuestion No : 142
Q.142 ) o
What is the Prakriti of the person?

1. Vata Dominant
2. Pitta Dominant
3. Kapha Dominant

4. Sama Doshaja

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 3767496791
Option 11D : 37674926461
Option 2 ID : 37674926462
Option 31D : 37674926463
Option 4 ID : 37674926464

Status : Answered

Chosen Option : 2
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Comprehension:
Please read the passage and answer the following questions:

A 25 year old man with a tall lean frame with wrinkled skin. sparse hair with premature
greying showed excessive sweating with body odor. He had an aggressive and irritable
behavior and complained of skin rashes and episodes of stomatitis especially during the
festival season of Diwali. He loves travelling and eating-out but is very particular about who
he travels with. Because of his recurrent skin and hair issues. he has been advised by a
family member to consult with an Ayurvedic practitioner to adopt some life style changes.

SubQuestion No : 143

Q'143 . v . "
What is the dietary advise he would be prescribed?
1. Tikta Rasa, Cool, Heavy diet
2. Katu Rasa. Fermented items
3. Fasting, Spicy. light diet
4. Sour, oily, unripe fruits
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

McQ
3767496795
37674926477
37674926478
37674926479
37674926480
Answered

4
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Comprehension:
Please read the passage and answer the following questions:

A 25 year old man with a tall lean frame with wrinkled skin. sparse hair with premature
greying showed excessive sweating with body odor. He had an aggressive and irritable
behavior and complained of skin rashes and episodes of stomatitis especially during the
festival season of Diwali. He loves travelling and eating-out but is very particular about who
he travels with. Because of his recurrent skin and hair issues. he has been advised by a
family member to consult with an Ayurvedic practitioner to adopt some life style changes.

SubQuestion No : 144

Q.144 - : . G oEs 5 F
Which of the following physical activities is he generally advised NOT to do?
1. Jogging
2. Cycling
3. Heavy weight lifting
4. Swimming
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 41D :
Status :
Chosen Option :

McQ
3767496792
37674926465
37674926466
37674926467
37674926468
Answered

4
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Comprehension:
Please read the passage and answer the following questions:

A 25 year old man with a tall lean frame with wrinkled skin. sparse hair with premature
greying showed excessive sweating with body odor. He had an aggressive and irritable
behavior and complained of skin rashes and episodes of stomatitis especially during the
festival season of Diwali. He loves travelling and eating-out but is very particular about who
he travels with. Because of his recurrent skin and hair issues. he has been advised by a
family member to consult with an Ayurvedic practitioner to adopt some life style changes.

SubQuestion No : 145

Q.145 . . _
What disease / disorders would this person be more prone to
1. Obesity
2. Bleeding disorder
3. Osteoarthritic disorder
4. Indigestion
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID
Status :
Chosen Option :

McQ
3767496793

1 37674926469
: 37674926470
1 37674926471
1 37674926472

Answered
4
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Comprehension:
Please read the passage and answer the following questions:

A patient suffering from repeated and different opportunistic infections leading to weight
loss and diarrhea. There was a fall in number of T cells. Recently. the patient was detected
with Kaposis Sarcoma. The patient was diagnosed with a typical viral infection using a cell-
based assay. The virus uses a unique system of reproduction. The patient acquired this virus
due to repeated blood transfusions in the past. Along with conventional medicines, the
patients wished for supportive therapies and decides to wisit a clinic of an Ayurveda
Practitioner.

SubQuestion No : 146

Q.146 : ; : ;
What could be the possible infection the person may be suffering from?
1. HINI Influenza Virus
2. Human Papillomavirus
3. Human Immunodeficiency Virus
4. Hepatitis B Virus
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

McQ
3767496799
37674926489
37674926490
37674926491
37674926492
Answered

3
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Comprehension:

Please read the passage and answer the following questions:

A patient suffering from repeated and different opportunistic infections leading to weight
loss and diarrhea. There was a fall in number of T cells. Recently. the patient was detected
with Kaposis Sarcoma. The patient was diagnosed with a typical viral infection using a cell-
based assay. The virus uses a unique system of reproduction. The patient acquired this virus
due to repeated blood transfusions in the past. Along with conventional medicines. the
patients wished for supportive therapies and decides to wisit a clinic of an Ayurveda
Practitioner.
SubQuestion No : 147

Q.147 The infecting virus specifically codes for a polymerase that is essential for the propagation of

the virus, which is
1. DNA-dependent DNA polymerase
2. RNA-dependent DNA polymerase
3. DNA-dependent RNA polymerase

4. RNA-dependent RNA polymerase
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 3767496797
Option 1 ID : 37674926481
Option 2 ID : 37674926482
Option 31D : 37674926483
Option 4 ID : 37674926484

Status : Answered

Chosen Option: 3
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Comprehension:
Please read the passage and answer the following questions:

A patient suffering from repeated and different opportunistic infections leading to weight
loss and diarrhea. There was a fall in number of T cells. Recently. the patient was detected
with Kaposis Sarcoma. The patient was diagnosed with a typical viral infection using a cell-
based assay. The virus uses a unique system of reproduction. The patient acquired this virus
due to repeated blood transfusions in the past. Along with conventional medicines. the
patients wished for supportive therapies and decides to wisit a clinic of an Ayurveda
Practitioner.

SubQuestion No : 148

Q.148 . o ;o
What class of Ayurvedic medicine can be recommended for such condition?
1. Rasayana
2. Krimihara
3. Medhya
4. Mutrala
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:
Chosen Option :

McQ
3767496800
37674926493
37674926494
37674926495
37674926496
Answered

1
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Comprehension:
Please read the passage and answer the following questions:

A patient suffering from repeated and different opportunistic infections leading to weight
loss and diarrhea. There was a fall in number of T cells. Recently. the patient was detected
with Kaposis Sarcoma. The patient was diagnosed with a typical viral infection using a cell-
based assay. The virus uses a unique system of reproduction. The patient acquired this virus
due to repeated blood transfusions in the past. Along with conventional medicines. the
patients wished for supportive therapies and decides to wisit a clinic of an Ayurveda
Practitioner.

SubQuestion No : 149

149 : : ; ; . ;
Q Which among the following diagnostic techniques is used frequently to access the
progression of this disease?
1. Widal test
2. High performance liquid chromatography
3. Flow cytometry
4. Enzyme linked Immunosorbent Assay
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 2 ID
Option 31D
Option 4 ID
Status
Chosen Option :

McQ
3767496798
37674926485

: 37674926486
: 37674926487
: 37674926488
: Answered

4
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Comprehension:
Please read the passage and answer the following questions:

A patient suffering from repeated and different opportunistic infections leading to weight
loss and diarrhea. There was a fall in number of T cells. Recently. the patient was detected
with Kaposis Sarcoma. The patient was diagnosed with a typical viral infection using a cell-
based assay. The virus uses a unique system of reproduction. The patient acquired this virus
due to repeated blood transfusions in the past. Along with conventional medicines. the
patients wished for supportive therapies and decides to wisit a clinic of an Ayurveda
Practitioner.

SubQuestion No : 150

Q.150 , : . :
What kind of pathology according to Ayurveda, it can be described as?
1. Ojokshaya
2. Kapha Vriddhi
3, Pitta Vriddhi
4. Vata Kshaya
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 1 1D
Option 2 ID
Option 31D :
Option 41D :
Status:
Chosen Option :

McQ
3767496801

1 37674926497
1 37674926498

37674926499
37674926500
Answered

1
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